(XA B&REH]

(Khis
[i=td Kn58 BEEHN)
[E:3E 39,114
QBERE -BHA 18,151
JEHEX - RERSE 6,484
(%8
I 15z IND B PN BEREH(N)
1[Z D4 g 28,691
2| Z D4 HERE -BHA 12,451
KESE] R 4,932
4| ZF D HEX-RERESE 3,744
5|3EET HERE -BHA 2,977
STAEEI1E1,593 N
[REH- S8R B3 E #]
(Kn$E
[=td PN BERFH(N)
1|5 B R R 29,837
2[#2F - ERRE 14,772
3| RIEERE 7,663
4| EhFE SR 4619
5|F D h 3,038
(M5B
g 152 INDFR PN BEREHAN)
1ERDNA 5L (525R) B EERRE 12,550
EEDNA (BADER) G 10,368
I EE (ZEER) BF -4 3,706
4| BB (FDih) BE-4£ENE 3,185
S5|fRERDIXA L (MiE KHE) 2R RE 2,641
6|4 EE Bi% -4 ERRE 2,426
1R DNA-ZE (FDMDEHEE) B2 EE 7R 2,386
FEEZS BE-4£ENRE 2,176
CIESE RSN Ed Ak 1,992
10[EEDEN SRR 1,366
[HEI TXEEF R EdAnle 1,215
12(6% X -4ERE 1,186
13[PMIH % ZNDfth 1,180
14(Z D4 Z D4 1,158
15(B515 D AR B 1% ISR 1,082
16| Z D KIEBEZRD A Ed ok 928
17[Z D1t EI5RRE 860
18| FRFRAZR DA K HEERE 856
19| REDFET E A 847
20D KK EI5RRE 780

X THREE](ZX. 18,643 A




	原稿

